
Honors Math II      Name___________________________________ 
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Multiply the following radicals:           Remember to simplify 
 

√2 ∙  √3 =      √5
3

 ∙  √5
3

= 
 
 
 
 

5√2  ∙ 3√6 =        5√𝑥23
 ∙  √𝑥63

 
 
 
 
 

Distributive Property: 
 

2(√3 + √5 ) = 

 
 
 

3(2√7 +  5√6 ) = 

 
 
 

√3  (√7 +  5√6 ) = 

 
 
 

4√5 (2√3 −  √5 ) = 

 
 
 

4√3 (3√6 −  2√5 ) = 

  
 
 

(√3 + 5)(√3 −  5) = 

 
 
 

(√6 + √2)(√6 −  √2) = 

 
 
 

(√3 + 2)(4√6 −  7√5) = 

 
 



What if the index numbers are different? 
 

√6 ∙  √7
3

=                                                VS                                     √6  ∙  √6
3

=         
 
 

Divide the radicals: 
 

√
36

144
 =        √

3

12
=  

 
        
 
√6

√3
=        

√3

√6
=  

 
 
  

√
3

9
=  

 
 
 
 
8

√2
=        

√40

√75
=  

 
 
 
 
 

√
𝑥4

𝑥

3
=              

√9𝑚

18
=  

 
 
 
 
√𝑥2

3√5
=                             

√5
3

√9
3  = 

 
 


